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1) The empirical formula of a compound is CH, and its molecular mass is 70. What is the
molecular formula of the compound?

1) C;H, 2) C3H, 3) C4H1o 4) CsHyo

2) What is the molecular formula of a compound that has a molecular mass of 92 and an
empirical formula of NO,? 1) NO, 2) N,O4 3) N3Og 4) N4Og

3) The empirical formula of a compound is C;H3 and its molecular mass is 54. What is the
molecular formula of the compound?

1) C;H,4 2) C4Hg 3) C4Hs 4) CeH1o

4) The empirical formula of a compound is CH. Its molecular mass could be

1) 21 2) 40 3)51 4)78

5) Which pair of compounds has the same empirical formula?

1) CH3OH and C2H50H 3) Csz and C3H3

2) C;H, and CeHs 4) CH3CHO and CH;COOH

6) Given the structural formula:

S
HHHH
What is the empirical formula of this compound?
1) CgH2004 2) C4H100, 3) CH;0 4) C,Hs0

7) The molecular formula of a compound is represented by X3Ys. What is the empirical formula
of this compound?

1) Xo¥ 2) XY, 3) XY; 4) XY



